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tudy Guide and Review continued

Determine whether each function is continuous at the given
x-value(s). Justify using the continuity test. If discontinuous, identify
the type of discontinuity as infinite, jump, of removable,

Determine whether f

Justify your answer 1
jdentify the type of d

27. f)=x>—3x=4
28. f(x):\/2x—4;x:10

29. f(x):;{—?-,x:Oandx:7

f(0) = —0.25,s0 fis
fgets closer 10 ~0.2!

30, f(x) =

X
-1 if x<1
st f(x):{ 2x it )(21;)(:1

Because Iim0 flx)is ¢

conclude that f(x) is
Because fis not defi

i
|
|
|
i
|

X _x=2andx=4 |
4 1
|

|

|

i

|

Use the graph of (
—ox% —5x+ 110
its end behavior.

Use the graph of each function to describe its end behavior.
EOT } 3 0T T

Examine the graph
As x —+ 00, f(x) —
As x — —00, fix) -

Use the graph of each function to estimate intervals to the nearest
0.5 unit on which the function is increasing, decreasing, or constant.
Then estimate to the nearest 0.5 unit, and classify the extrema for

Use the graph of
nearest 0.5 unit

the graph of each function. constant. Then e
3. 7[ - I T 2 extrema for the (
L " fFrom the graph,”’

that f is increasil
decreasing on (-
and increasing 0

We can estimate
relative maximu
a relative minim

Find the average rate of change of each function on the given
interval.

36, ) = —x*+3x+1,10,2
x2 4+ 2x+5;[-5,3]

37. flx)
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tudy Guide and Review continued

Anticipation Guide

Have students complete the Chapter 1
Anticipation Guide and discuss how
their responses have changed now that

they have completed the chapter. Graph each function using a graphing calculator, and apply the
horizontal line test to determine whether its inverse function exists. Find the inverse function of fix) = VX — 3 and state any
e i Write yes or no. - p .
Before the Test ] 53. flx)=|x +6 54. f()=x* g5 :st“‘::‘:“fsh““ :s d"_"“;(')“' ) and {3, o). Now find th
. : ote that Fhas domain [0, o) and range [—3, oo). Now find the
Have students complete pp. 17 and 18 5. )=~ 1o 56, fir) = x° — 4x2 1 inverse relation of £
of the Study Notebook to review topics y=+vi—3
and skills presented in the chapter. Find the inverse function and state any restrictions on the domain. ;(:\\/Cy -
: C X+ 3=
57. fix)=x%—2 58. g(x)= —4x+8 ) x+32= yy
x)=2x+3 60. f(x)= ij ¢ :
The domain of y = (x + 3)? does not equal the range of funless
restricted to [3, 00). So, () = (x + 3)* for x = —3.

Appllcatlons and Problem Solving

n 'ne plan that charges 64. 2asEBALL The table shows the number of home runs by

$39 99 per month. Included in the plan are 500 daytime minutes a baseball player in each of the first 5 years he played
that can be used Monday through Friday between 7 am. and 7 p.w. professionalty.
g(s)gri :(:: charged $0 20 per minute for every daytime minute over Soon | 2005 | 2008 | 2007 | 2008

36 23 42 42

a. Write a function p(x) for the cost of a month of service during
which you use x daytime minutes.
b. How much will you be charged if you use 450 daytime minutes? a. Explain why 2006 represents a relative minimum.
550 daytime minutes? - b. Suppose the average rate of change of home runs between
R 2008 and 2011 is 5 home runs per year. How many home runs
were there in 20117
e S X X ¢. Suppose the average rate of change of home runs between
62. ;a?;és};-!ias@saw _The fuel economy for a hybrid car at various 2007 and 2012 is negative. Compare the number of home runs
highway speeds is shown. iasion ©-2 in 2007 and 2012.

¢. Graph p(x).

65. PHYSISS A stone is thrown horizontally from the top
of a ciiff. The velocity of the stone measured in meters
per second after £seconds can be modeled by

[V =)
S o
|

]

Fuel Economy
(mi/g)
5
|

30 [— —
= 2 ;
o v{t) = - (9.81? + 49. The speed of the stone is the abs_olute
45 50 55 60 65 70 75 value of its velocity. Draw a graph of the stone’s speed during the
speed (mi/h) first 6 seconds.
a. Approximately what is the fuel economy for the car when A department store advertises $10 off the
traveling 50 miles per hour? price of any pair of jeans. How much will a pair of jeans cost |f th ]
’ orlgmal price is $55 and there is 8.5% sales tax? = iy B

b. At approximately what speed will the car’s fuef ecoromy be less
than 40 mijes per gallon? B - One inch is approximately equal to

2.54 centimeters, &
63. LA == After working for a company for five years, Ms. Washer a. Write a function A(x) that will convert the area x of a rectange

was given a promotion. She is now eaming $1500 per month more from square inches to square centimeters.
than her previous salary. Will a function modeling her monthly b. Write a function A~'(x) that will convert the area x of a rect:
income be a continuous function? Explain. i essn from square centimeters to square inches.
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